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Note : (i) There are in all 17 questions in this question papér. All questions are
compulsory.

(i) Question No. 1 is multiple choice type. Question No. 2 to 6 are definite
answer type guestions. Question No. 7 to 11 are of very short answer
type questions which are to be answered in about 40 words each.
Question No. 12 to 14 are short answer type to be answered in about
150 words each and Question No. 15 to 17 are long answer type which
are to be answered in about 300 words each.

(iii) Marks allotted to each question are mentioned against them.
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Four options are given in each part of this question. Write correct option in your
answer sheet,

(a) High carbon steel has average carbon content by weight as:

(i) 0.1% (i) 1%
(i) 2% (iv) 3%
(b) Which of the following is not required in a diesel engine?
(i) Piston (i) Connecting rod
(i) Valve (iv) Carburettor

(c) Which water lifting pump set works while its motor is comptelely inside the

water?
(i) Centrifugal pump (i) Submersible pump
(iif) Turbine pump (iv) Reciprocating pump

(d) Which quality of soil is improved by ploughing -

(i) Physical quality (i) Chemical quality
(iii) Organic quality (iv) all of these
(e) Method/s of Power transmissions is/are -
(i) Beltsand Pully (i) Sprocket Wheels and Chains
(i) Gears (iv) all of these
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(Definite Answer Type Questions)

e & BT &M b varef & &1 g &2 1
Which material is used to make handle of Meston plough?
U Gaex gRT o aret Reang o1 w1ae & fobwr 3y o st fopar ey 7 1
Which instrument is used to measure the pull by a tractor?
TS g1 # Tl bHAde T ]1S BT 98T U fopery 3T & 22 1

What is connected to the big end of connecting rod in an engine?

U ST TR o fevanst &x 0.1 99 Hiex uid fie 21 399 v 6 & feam ar) Rrasanm
1

A water pump has discharge rate of 0.1 cubic meter per minutes. How much
water will it deliver in one hour?

TR & al YR ferae| | 1
Write two types of plastic.
3ifet o1y I e

(Very Short Answer Type Questions)
TP 4-%¢IP SIoTeT 351 &b HH I Bl HHAR IeoRg HIST| 2
Mention the strokes of a 4-stroke diseal engine in proper sequence.
eeTdl EliET FT 8° SHHT BN IUPR0T F IuANT g 2
What is cast iron? State its uses in agricultural machines.
TP ek # e F0ciosN0 enve & 39AnT FarEe 2
Write the uses of P.T.O. shaft in a tractor.
U ETEICId P! He- @ T & G W e 2

What are the main parts of a hand operated chaff cutter?

160 & & U R & a1t 100 e 9fey fFe 21 g 40 39 & R @ g I @
YHRATT? 2
The speed of a gear of 160 teeth is 100 revolutions per minute. At what speed
will it rotate a gear of 40 teeth?

oY IR we

(Short Answer Type Questions)

U Hies SIS & BT A R &R 395 TS W % BIS 3 TR DS 4

Draw the labelled diagram of a Mould Board plough and explain the function of
each part of it.
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T 31 8T 87 4
Write the need for leveling the field. Differentiate between main objective of
Summer season plough and Winter season piough.

14. oA o yomelt fbam yobR &1 1t &2 TF @1 Wi quie SR 4
How many types of irrigation systems are there? Describe each type in brief.
3AYdi/OR
BHIUS &7 &1 o 37 & i Feipy & HHIvS 8 BT 9 BifeR

What is the meaning of Command area? Describe the Command area of a

tubewell.
&¥ef 3T e
(Long Answer Type Questions)
15. U TS STc U ) Brifafer &1 Imifesa R afea gofg e 6

Describe the working of a Turbine pump with the labelled diagram.

3AUdi/OR
R IRIE T &Y ST TT BRI &1 |fas gofe S|
Describe the construction and working of a Centrifugal pump with labelled
diagram.

16. Wd DI RT3 TN 8 a1ent 3 webR 1 &1 @7 afr qofar i 6

Describe various types of harrow used in seed bed preparation with diagram.

17. e 76T 0 @1 AREROT &R 2 B Hiex Ui BT 1 59 GIRT 0.4 2eaR 9 3 5 30 1=
Riarg o< 7 fobam s v, af et Ries @arar 80 witer & 6

A water pump has a discharge rate of 2 cubic meter per hour. Determine the
time required to irrigate 0.4 hectare land with 5 cm depth of irrigation, if overaii
irrigation efficiency is 80 percent.

: JAYdi/OR
TG 15 WHIO ST 1 Gett ‘37" 180 Tamy Wiet e oY X 3 ¥ & & 7o 59 g7 30 0
T B U 3 efl ‘T’ TUC) deT GRT YATE 511 & 21 Qe ‘T 3 Ry oY ore i,
gl gett e e & ST 10 i e 21
A 15 cm diameter pully 'A' is moving at 180 revolutions per minute and it is
driving another pully 'B' of 30 cm diameter with the help of a flat belt. Determine
the speed of pully 'B', if there is a slippage of 10 percent between the pully and
belt.
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